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Flow: | have used a 16KHz audio file, unpacked the bytes, encoded it using a
convolutional code, and then passed it through the previously design FSK block
(noisy). After this we require mapping of the symbols to [-1,]] and then they can be
decoded. The BER block helps measure the bit-error rate between the input and
output data.
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Annihilatar: None Graph Type: Horizontal
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Here we can observe that the input data (before encoding) and output data (after
decoding) are exactly same. Therefore, FEC is working correctly for no noise. We can
also observe no errors for the flow without FEC.
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As we increase the noise amplitude to around 0.6, we start observing errors in the
flow without FEC. However, with FEC, we still have no errors.



Not titled yet

. 10.600 |

o
]
2
2
3
<
044
02
LU HHH [ U HHI“ Uty LU U
r T T T T
10 20 30 40 50 60
Time (ms)
BER without FEC
Data0 -1.719303
6 -4 2 0
L . L . h
I T —
BER with FEC
Data0 0.000000
5 -4 2 0
I ]

Only once we increase the noise amplitude to around 1.1, we start seeing errors in the
flow with FEC. This shows that error correction mechanisms help correct for some

amount of noise in the FSK flow.
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